EAGRAROBREERT — 2 N— IBISH —F

2021558188 (K) 3EIA#H2H

K@V >%—fk C3MEA

‘ [R1&] & ‘ [REBE] — | & (£) 16000 B

[A&£] 1 7 :800,000  ~ 23&:320,000H ~ 33 :200,000H ~ 43:120,000 ™ 5 & :80,000 M

BB BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
N . o PEAIIE 143. -1-1- . - BAME (/)
1 ; MEE A= 7 =5 1(4_3)8 1=1-1-1 | 40.0 1 (ﬁg) n(ﬁ) Em;ﬁz\t%
RipNZ— BRI A — HHEMS
= 4 7 | AHES 1:44.5 6-6-4-3 |40.2| — 3 440 | ARIZRE (KFH)
2 13 YYRT Ay 54.0 3 172) vy | E) mmE
:744H0 B:F1A-—Y Yriva LB
: s 6 | BELH 1:44. 2-2-2-2 |40.8| — 4 426 | KEFH (KH)
sl s 77EUT 54.0 (7E) (1) | MRt
R:Z2v—h77)0> B:ZARCEQL-Y— AT A R )
— D j o4 | EBEX 1:45.4 3-3-3-4 |41.4| — 10 | 439 |EEX (KH)
4 10| 7 —7¥— 7= 56.0 ) 47 | @R Tr—2bevar
RBALNT Ry IR BI—S hYr—Ib EHE%S
. o7 | FHEEE 1:45.6 12-11-6-6 | 41.0 | — 2 506 | A (KH)
57010 FVT7 A 56.0 (3/4) Lo | TR
A:Midnight Lute #£F:Trophy Bride AR Enterprises, |
3 — s 8 | AT 1:45.7 5-5-5-5 |41.2| — 12 | 496 |=M@iEEE (K¥H)
6l5/8|E7Y—tT1— 54.0 (7€) “7) ST
L:2ZAH7 AR B:Od—IVRT X% F5 2 Kigie
— s “ 4t g | BEEX 1:45.8 10-9-8-8 [41.0| — 8 451 | EEFE (M)
71814 F—AFTuNn 56.0 (3/4) (+3) | LEEHE
Z:aORYIFRYT—/ B:TIJXRZR T—=IWRT7—L
I 7w # 4 | BRRZ 1:46.0 4477 411 — | 13 | a0 |FEBAZ (KFH)
N DL A51.0 (3/4) (+10) | BEE—
R:TZ7oFyYy Biut—2—L-—> GIEsgse]
s N s o5 | HEIEE 1:46.5 8-8-11-10 | 41.1| — 5 429 | A= (XH)
91| 1| FIVbTLAN= 56.0 (21/2) (+1) | BEEX
R:TV=XTLAN= B:HAYIT710 BT ]
RS 4 5 | THF 1:46.6 n-1-12-11| 41.2 | — 7 476 | BARELZ (KH)
Eﬂ 5| ¥fL— b= 54.0 3/4) ue) |EEHER
LG4 7 hT—IEY B:FLSI—H— HR=HHS
N BRE : -10-9— — BER (KH)
1lsl7|vzVvI—n it 4 i 174?:)7 9-10-9-9 | 41.4 14 <4+646) R
RL:iboHFT—ILK B:A—ILEXIRT4—IT7— RIS B
S I, S, 4 5 | HIBESR 1:47.0 14-14-13-13| 41.1 | — 6 476 | BEH (KH)
EH 3| ¥ARNTT > 5.0 1 1/2) NG PES AP ELT
R:Z&—YrdA—x B:IT—HT21—Y FE Ak
N HHE 147, -7-10- . - =R (K3
bzl hvLan= o4 ohE 1(447)8 7-7-10-12 | 42.6 11 :1358) Eﬁ%
L:T—%ZAM)— BUF2TUZXR A FHS
_ # o7 | SHER 1:48.7  |13-13-14-14| 42.9| — | 9 | 488 | EREE k)
EE 9| 7¥ 7> kR 56.0 ) (+3) | EEER
R:FHhYY71x8 BLECFZR BEX#ERS
® 1 —F—@EBIERL
1T=7r= 4,6,10,2,8,13,11,1,7,14,5,12,9,3
2a=5F= 4,6,10,2,8,13,11,1,14,7,(5,12) ,9,3
Ja=7= 4,6,10,13,8,12,2,14,7,11,1,5,3,9
43—+ — 4,6,13,10,8,12,2,14,7,1,5,11,3,9
[ /N
B 4 150/ 714K 4-13 510M B 3-8 620 JEE 4-6-13 2,190/
B B 4 110 4-6 300M e B 3-8 760M JEE 4-13-6 6,140
13 220M 6-13 1,030M B E 4-13 1,080
6 180M B H 4-13 1,320

ARICOVWTRDTEEERROODE. TR LIV,




